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* do..while 4lex aladiuly 3 5 while dles aladiud 5 44
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1*1=1 1*2=2 1*3=3 1*4=4 1*5=5 8049 for Ay aladiuly 5
2%¥1=2 2%*2=4 2*3=6 2*4=8 2*5=10 5a9while Alex aladiuly
3*1=3 3%*2=6 3*3=9 3*4=12 3*5=15 do..while 4lex aladiuly

4*1=4 4*2=8 4*3=12 4*4=16 4*5=20
5%1=5 5*2=10 5%*3=15 5%4=20 5%*5=25
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for(int i=1;i<=5;i++) { Al A milii ma g L1
for (int j=1;j<=i;j++){
cout<<"Hello "<<j<<" "<<i; while a5 0 for Alay Jasiu) 2
cout<<"\t"; ol i do.while Maxy g Al 54y
cout<<endl; & -
}
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int i=5, j=3, k=2, x=4 ,z=3;
float y; Al A milil a1
switch(z) {
case 2: y=x;break; sy b e switch daa Jadiad .2
case 3: y=x++; aay s AT 5 mgkid i F
case 7: y=y+x+i*j/k; if _else
case 8: cout<"Y = "<<y;
break;
default:y=0; cout<<"Y = "<<y;
}




